-3 -3
. 0.2><10 . R 0-2i<10
g r + AN -
S F So.15F
50.15 STE
o o
’3 v 0.1:—
0.1 r
0.05
0.05 OF
-0.05F
0 F
-0.1~
-0.05 F
-0.15
270 o702
T : : IS F
14 d : [ R ¢
2 + ' R
([ R C:
-1 2 3 -1
10 1 TPlé)T (PCA t%obeamliné[f) 10
—=— DQM_original_step2__pt1to20_etalp4tolp6
—e— DQM_mkFit_step2__ ptlto20_etalp4tolp6
—— DQM_pixelCPETemplate_step2_ ptlto20_etalp4tolp6
- : — 100
e f Hy N
S O Bty = T :
F I : g BOp g
© =20 rdee e IV :
\Y; - v 70
_40-— ----------------------------------------------- : :
- L Rt S0 I | SREEE SEL EEEREE SEEECEES
of -1
o —2(.‘1-_...'..'.!.'.'.".'i...'....'.'.'.'.'.".. .'..'..'.'.'.'.".!....'..'..'.'.'.'!'
; g f :
: o r
H 0.5 - rememre st o h s
107 1 10 62 10° 10(;'1 1 100 02 10°
TPp, (PCA t%) beamlinep TPp, (PCA t%) beamlinep
> 2
X r b
A B
o 1_5__ ...............................................
a
o L
\V l__ """"""""""""""""""""""""

Ratio

-

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


